
Spiel 1 Spiel 2 Gesamt

12:45 A 01 Radinger Maria 50 + 47 = 97

A 06 Marschallinger Ursula 32 + 33 = 65

12:52 A 02 Rathgeb Sabine 26 + 39 = 65

A 05 Feuchtner Waltraud 43 + 57 = 100

12:59 A 03 Leutgeweger Monika 40 + 37 = 77

A 04 Schaurhofer Elvira 47 + 55 = 102

13:06 A 06 Marschallinger Ursula 29 + 13 = 42

A 04 Schaurhofer Elvira 43 + 48 = 91

13:13 A 05 Feuchtner Waltraud 36 + 36 = 72

A 03 Leutgeweger Monika 50 + 35 = 85

13:20 A 01 Radinger Maria 49 + 49 = 98

A 02 Rathgeb Sabine 52 + 45 = 97

13:27 A 02 Rathgeb Sabine 60 + 36 = 96

A 06 Marschallinger Ursula 36 + 24 = 60

13:34 A 03 Leutgeweger Monika 48 + 53 = 101

A 01 Radinger Maria 44 + 46 = 90

13:41 A 04 Schaurhofer Elvira 48 + 42 = 90

A 05 Feuchtner Waltraud 47 + 45 = 92

13:48 A 06 Marschallinger Ursula 22 + 32 = 54

A 05 Feuchtner Waltraud 53 + 42 = 95

13:55 A 01 Radinger Maria 48 + 56 = 104

A 04 Schaurhofer Elvira 47 + 45 = 92

14:02 A 02 Rathgeb Sabine 38 + 41 = 79

A 03 Leutgeweger Monika 39 + 45 = 84

14:09 A 03 Leutgeweger Monika 37 + 54 = 91

A 06 Marschallinger Ursula 28 + 21 = 49

14:16 A 04 Schaurhofer Elvira 48 + 43 = 91

A 02 Rathgeb Sabine 47 + 40 = 87

14:23 A 05 Feuchtner Waltraud 54 + 41 = 95

A 01 Radinger Maria 53 + 55 = 108


